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QUESTION 1

Given the code fragment: Which URL triggers the invocation of the getEmployee () method? 

A. /Employees/89724 

B. /Employees/J6349 

C. /Employees/id:a7280 

D. /Employees/id/J6349 

Correct Answer: B 

 

QUESTION 2

Material is transferred between the Subinventories within an organization via transfer order. The setup is complete and
the transfer order is created though the FBDI process. 

What is the primary interface data that needs to be completed in the template? 

A. CST_I_INCOMING_TXN_COSTS 

B. INV_SUBINVENTORY_TRANSFER 

C. INV_TRANSACTION_LOTS_INTERFACE 

D. INV_SERIAL_NUMBERS_INTERFACE 

E. INV_TRANSACTIONS_INTERFACE 

Correct Answer: E 

 

QUESTION 3

Which two elements CANNOT be injected by using an @Inject annotation? (Choose two.) 
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A. static fields 

B. instance fields declared final 

C. concrete methods 

D. abstract methods 

Correct Answer: BD 

Reference: https://docs.oracle.com/javaee/6/api/javax/inject/Inject.html 

 

QUESTION 4

Which three statements are true for an expense destination transfers that does NOT require a receipt at destination
inventory organization? 

A. There is no cost associated to the transaction. 

B. There is no put away transaction in Inventory since the item is expensed. 

C. A receipt is required on interorganization expense destination transfer orders between the from and to organizations. 

D. The transfer order is considered received and delivered at the time of shipment. 

E. The destination inventory is not incremented. 

Correct Answer: ABE 

 

QUESTION 5

Your customer wants to prevent customer shipments out of a specific subventory. They are setting up a material status
to control this. 

Which transaction do they need to disallow? 

A. Sales Order Pick 

B. Sales Order Issue 

C. Ship Confirm 

D. Miscellaneous Issue 

E. Move Request Putaway. 

Correct Answer: B 

 

QUESTION 6

Which statement is false about generating an Internal Material Transfer for expense destination Transfer Order? 
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A. Expense destination transfers are expensed upon delivery hitting an expense account instead of an inventory asset
account as would be the case for inventory destination transfers. 

B. If the receipt is not required Cost Accounting will pick up both the issue and receipt activity from the single inventory
transaction "Transfer Order Issue" 

C. If the receipt is required, the accounting of the receipt delivery transaction will happen only on Receipt Accounting
because there will not be a delivery transaction in inventory. 

D. Costs for Lot and serial numbers are tracked at put away time when the items are recorded in a destination inventory
location. 

E. Cost Management will pick up the delivery transaction directly from Receiving and process the expense accounting
from that transaction. 

Correct Answer: D 

 

QUESTION 7

During Cloud Inventory implementation your customer requires you to enable the Oracle Transactional Business
Intelligence (OTBI) KPI to review the list of standard reports which is useful for their current business scenario. When
navigating to reports and analytics, the warehouse dashboard doesn\\'t show any KPI watchlist. 

Identify two causes. (Choose two.) 

A. Logistics Business Intelligence Analytics is enabled. 

B. Logistics Business Intelligence Analytics is not implemented. 

C. Organization is not enabled for warehousing. 

D. Data permissions for the organization being referenced are not set up. 

E. Supply Chain and Order Management Business Intelligence Analytics is not enabled. 

Correct Answer: BE 

 

QUESTION 8

Your client is about to define their primary ledger. 

Which set of three primary attributes do they need to know in order to complete this? 

A. Chart of Accounts, Description, and Accounting Method 

B. Chart of Accounts, Ledger Balance, and Accounting Method 

C. Chart of Accounts, Accounting Calendar, and Currency 

D. Currency, Description, and Accounting Method 

Correct Answer: C 
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QUESTION 9

Which action invokes supply chain orchestration and transfer of data to supply chain orchestration Interface tables? 

A. creating Purchase Order Receipt 

B. running a scheduled process called "Create Transactions" 

C. running Min-Max Planning 

D. creating a new Inventory Organization for execution of supply chain orchestration 

Correct Answer: C 

 

QUESTION 10

Given an HttpServletRequest request and an EJB SessionContext ctx. 

Which is a valid way to retrieve the Principal invoking either behavior? 

A. request.getCallerPrincipal() and ctx.getCallerPrincipal() 

B. request.getUserPrincipal() and ctx.getUserPrincipal() 

C. request.getCallerPrincipal() and ctx.getUserPrincipal() 

D. request.getUserPrincipal() and ctx.getCallerPrincipal() 

Correct Answer: A 

 

QUESTION 11

A user is performing a material return transaction against access stock in an Inventory organization; however, the user
fails to select the Physical Material Return Required check box. 

What happens? 

A. It is considered as accounting-only return. 

B. Stock is reserved. 

C. A transfer order line remains open. 

D. Shipment lines are created. 

Correct Answer: A 

 

QUESTION 12
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Given: What will be the response to a HEAD request? 

A. The findAll() method will be called and the employee list will be returned. 

B. The findAll() method will be called and no employees will be returned. 

C. No method will be invoked and no error will be returned. 

D. No method will be invoked and a 404 error will be returned. 

Correct Answer: C 

 

QUESTION 13

Your customer is a very large organization spanning across multiple countries. Their legal requirements, Human
Resource Policies, and Functional Currencies for Ledger are different for each country. Your customer wants to
maintain 10 different companies in the system. 

Which combination meets this requirement? 

A. 1 Enterprise, 10 Divisions, where each division has its own ledger with common legal entity across all divisions 

B. 10 Enterprises, 10 Divisions, where each division has its own legal entity and ledger 

C. 1 Enterprise, 10 Divisions, where each division has its own legal entity and ledger 

D. 10 Enterprises, 1 Division, where each division has 10 legal entities and 1 ledger 

Correct Answer: C 

 

QUESTION 14

Identify the availability type that is applicable for the item quantities maintained in a unit of measure different from the
primary unit of measure and is available for various transactions. 

A. Available 

B. Secondary Available Quantity 
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C. Reserved 

D. Secondary On-hand Quantity 

E. On Hand 

Correct Answer: B 

 

QUESTION 15

You want to allow one set of roles to POST to a resource and another set of roles to GET it. 

Which two configuration options should you use? (Choose two.) 

A. two separate @HttpMethodConstraints annotations and sets of roles 

B. a single @HttpMethodContstraint annotation and a map of method to roles 

C. two with different in the deployment descriptor 

D. a single with two with different in the deployment descriptor 

Correct Answer: BD 
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